QID : 1 - In the following question, select the missing number from the given series.
678, 673, 668, ?, 658, 653
Tt geat # U 1w fashedl 3 & va 37 w1 HifsTl

678, 673, 668, ?, 658, 653
Options:
1) 663

2) 664
3) 666

4) 665
Correct Answer: 663
Candidate Answer: 663

QID : 2 - In a certain code language, "SCORE" is written as "TDPSF" and "FLING" is written as "GMJOH". How is "PENALTY" written in that code language?

% fafdrse Iz 3T &, "SCORE" Y "TDPSF" T27 "FLING" T "GMIOH" for@r SIiar §1 5 18 19T & "PENALTY" Y 59 whR forar Simeen?
Options:

1) QDOZKUZ

2) OFMBKSY

3) QFOBMUZ

4) ODMZKSY
Correct Answer: QFOBMUZ
Candidate Answer: QFOBMUZ

QID : 3 - In the following question, select the word which cannot be formed using the letters of the given word.

CORPORATION
Triaed fahed 7 & a8 s AT ST 14U 97T Aeq & I7&RT T TAI9T Ik 71 ST ST FehelT |

CORPORATION

Options:
1) PAINT

2) ROPE
3) PORTION

4) POTION
Correct Answer: ROPE
Candidate Answer: ROPE

QID : 4 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Bomb
2. Bing
3. Broom
4. Bost
5. Boost

TFATARAT ereel T Asgeher & 37T arel v & 3TER |

1. Bomb
2. Bing
3. Broom
4. Bost
5. Boost




Options:
1) 21543

2) 21453
3) 25143

4) 25413
Correct Answer: 21543
Candidate Answer: 21543

QID : 5 - In the following question, select the related letters from the given alternatives.
AP:ZT::MD:?
fereatafld yea # faw v fashedl & § Heflrd 3Rt i giavl

AP:ZT::MD:?
Options:

1) NH

2)N]

3)OH

4)0]
Correct Answer: NH
Candidate Answer: NH

QID : 6 - In the following question, select the odd letters from the given alternatives.

Terfafee yea # U 1w fashedt o & fwey 3y & giaw

Options:
1) AF

2)IN
3) EK

4) ZE
Correct Answer: EK
Candidate Answer: EK

QID : 7 - If 'A' means '+', 'B' means -, 'C' means 'x' and 'D' means '+', then
14D2A3C4B8=7?
i A T 3 '+, B T ', 'C T 31 X @ DR 3T g, A

14D2A3C4B8="7?
Options:

1)5

2)11

3)-5

4)-11

Correct Answer: 11
Candidate Answer: 11

QID : 8 - What will come in place of question mark (?) in the given equation?
132722?26?21=33
T a7C gaErEor F geeT RigsT (?) & T 9 FAT HwE?

132722?26?21=33
Options:

1)x, +, +and -

X, +, + AT -

2) +,x, +and -

+, X, + dqT—

3)-, +,xand +

=+, X TAUT +

4) +, +,xand -

+, +, X TAT—

Correct Answer: +, +, x and —
+, +, X dAT—

Candidate Answer: +, +, x and —
+, +, X dAT—




QID:9-If1x6x3=631and5x3x2 =325, then

4x1x6="7?
AT 1x6x3=631TA5x3x2=23258,dr

4x1x6=7?
Options:

1) 146

2) 461

3) 164

4) 614

Correct Answer: 164
Candidate Answer: 164

QID : 10 - Arrange the given words in the sequence in which they occur in the dictionary.
1. Nest

2. Nerd

3. Newly

4. Nine
5. Nimble

Trafafle erect 1 erecanrer 7 31T aey A & AR ford|
1. Nest

2. Nerd

3. Newly

4. Nine
5. Nimble

Options:
1) 21354
2) 21345
3) 23154

4) 23145
Correct Answer: 21354
Candidate Answer: 21354

QID : 11 - In the following question, select the missing number from the given series.

3,9,27,81,?

el g # Ry arv Reredt & & qea 3w fifsw)

3,9,27,81,?

Options:

1) 242

2) 243

3) 240

4) 210

Correct Answer: 243

Candidate Answer: 243

QID : 12 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
EJO,?

Teh 37eTshe 18T 1T &, TS & O e oo ¥ U I1e fashedl # & a @el fawned giv, St 3rgshat 1 O |

E J,0,?
Options:
1P

2)Q
3)R

HT
Correct Answer: T
Candidate Answer: T

QID : 13 - In the following question, select the odd word from the given alternatives.




Correct Answer: Plain
HHIT

Candidate Answer: Plain
HAdT

QID : 14 - In the following question, select the odd number from the given alternatives.

TArATaR aea 3 fow a1e fashedt 7 @ faver e & giav)

Options:
1)11

2)19
3)25

4)31
Correct Answer: 25
Candidate Answer: 25

QID : 15 - In the following question, select the odd letters from the given alternatives.

e yea # faw 1w el # @ fawe 3RT # v
Options:

1) IM

2) WA

3) Uy

4) NO

Correct Answer: NO

Candidate Answer: NO

QID:16-If4#3 @5 =17 and 5 # 6 @ 4 = 34, then
7#3@8=7?
IG4#3@5=17aM5#6@4 =347, ar

7#3@8=7?
Options:

1)33

2)29

3)23

4) 39

Correct Answer: 29
Candidate Answer: 29

QID : 17 - In the following question, select the related word from the given alternatives.
Eyes : See:: Mouth:?

et e # v 1w feredt & & Feftra ee &1 gfw)

g A1 ?
Options:

1) Listen

el

2) Eat

EcIgl)

3) Walk

Telall

4) Lift

3olr

Correct Answer: Eat
EcIpl)

Candidate Answer: Eat
dlelT




QID : 18 - In the following question, select the related number from the given alternatives.
83:81::104:?

fArAfafad gea # fou ¢ faswhed & @ Geftra deam w1 givl

83:81::104:?

Options:

1) 101

2) 102

3) 103

4) 104
Correct Answer: 102
Candidate Answer: 102

QID : 19 - In the following question, select the related letters from the given alternatives.
MIKE : NJLF:: COW :?

el 9ee # few a1e fashedt # § Heifer 3T i gl

MIKE : NJLF:: COW : ?

Options:

1) COM

2) DPX

3) DPY

4) CPX
Correct Answer: DPX
Candidate Answer: DPX

QID : 20 - In the following question, select the word which cannot be formed using the letters of the given word.

PERTANING

el fsedt # @ 95 oo gRIT ST AT 310 2req & 31&RT &7 SAIET % 761 ST SIT HehedT |
PERTANING

Options:

1) GUIDE

2) TRAIN

3) RING

4) RAIN
Correct Answer: GUIDE
Candidate Answer: GUIDE

QID : 21 - T remembers his birthday is before 9th July. T's wife remembers his birthday is after 7t July. On which date of July is his birthday?

T &1 916 § o 30 SeAfeat 9 o § 9d §1 T 41 Teell 1 16 § 7 30 SoAfeet 7 Jolts & Teard §1 30T Sosfeet Sfoirs & et o fafly v 82

Options:
1)7

2)9
3)6

4)8
Correct Answer: 8
Candidate Answer: 8

QID : 22 - Ais brother of B. B is sister of C. C is son of D. E is sister of D. How is B related to E?

A, BT 3115 €1 B, C T &g §1 C, D &1 99 &1 E, D ¥ 58T §1 B, E & oy v Falftr €2




Options:

1) Daughter
T

2) Niece
BRI

3) Sister

g1
4) Mother
AT

Correct Answer: Niece

srefreir

Candidate Answer: Niece

e

QID : 23 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. Some rats are cats.
I1. All cats are wet.

Conclusions:
I. No rat is cat.
II. Some rats are wet.

oA T 91T ot 7 Fo FUA 3R 379% a16 3T FYAT R IR Fo T o 1w , grefifen 3ot @rAw wa aeat & fiewrar gt aomd §1 @ T ug 3ik fore
%ﬁﬁﬁﬁﬁ%%@maﬁﬂﬁ%@,%m%ﬁﬁmwmgl

FYA:
L o g¢ fafeet €
11. @i fafeerar shafr &)1

forsed:

L #% g1 e 78 1

11 F& Tg ot

Options:

1) Only conclusion (I) follows.
Fael fashy (1) T@ ¥

2) Only conclusion (II) follows.
Faar oy (1) & &1

3) Both conclusion follow.

T € sy TEr §

4) Neither conclusion (I) nor conclusion (II) follows.

T A s (1) o & e (1) w18y ¥

Correct Answer: Only conclusion (II) follows.

aor sy (I1) T 8

Candidate Answer: Only conclusion (II) follows.

Fae fasey (I1) T 8

QID : 24 - In a certain code language, "LESS" is written as "NGUU". How is "MORE" written in that code language?

Tk TafRISe g AT &, "LESS" #T "NGUU" fa@r SiTar &1 3 &g #19T & "MORE" &I fohd yehR forar sireem?

Options:
1) OQTG

2) 0QSF
3) NOTG

4) 0QSG
Correct Answer: OQTG
Candidate Answer: OQTG

QID : 25 - In a certain code language, "PIC" is written as "56" and "PIT" is written as "90". How is "SEC" written in that code language?

T fafRise i rer &, "PIC" I "56" T "PIT" i "90" O ST 1 55 i 99T I "SEC" F e yhr for@r swen?

Options:
1) 51

2) 50
3)52

4) 54
Correct Answer: 54

[ et s T A e e W e T s M =)



Candidate Answer: 54

QID : 26 - Neha bought a steel bucket for Rs 576 with a discount of 10% on the marked price. Find the marked price of the bucket.

&gl & 3ifehel Hed W 10% T Te o a6 576 TIA H Teh Tl 1 ATecl TIET| dTecl 1 3ifhd Hed Famd|
Options:

1) Rs 620

620 U

2) Rs 640

640 TI

3) Rs 660

660 TI

4) Rs 680

680 TTr

Correct Answer: Rs 640
640 T

Candidate Answer: Rs 640
640 TUI

QID : 27 - A number when divided by 16 leaves a remainder 4. When the square of the number is divided by 16, what will be the remainder?

U G&AT FT 16 T _AINfad aRay 9T 4 A9 g9l &1 S 39 T&IT & 97 &7 16 § feniora fhar s, ar frder 9w s<em?
Options:

11

2)2

3)3

4)0

Correct Answer: 0

Candidate Answer: 0

QID : 28 - What is the digit at units place in the product (653 x 308 x 402 x 413)?

TUTIH (653 x 308 x 402 x 413) F SHIS F TATT T 3TeT aTell 3ieh 7 87
Options:

1)4

2)3

3)2

4)8

Correct Answer: 4

Candidate Answer: 4

QID : 29 - The sum of 8 consecutive integers is 4. What is the lowest integer?

8 TIAR YUl HEAT 1 TI9T 4 F| FIH BIET IR TEAT 77 872
Options:

1)-3

2)0

3)-2

4)-1

Correct Answer: -3

Candidate Answer: -3

QID : 30 - If Ram buys a dozen table for Rs 8000 and sells each table for Rs 800, what will be his profit percentage?

TH TF Eoiel Aot 8000 T & @ledr & 31T ufay A7 800 F9X R S T §| 3T oTeT AfAere Fr giom?
Options:

1) 10%

2) 15%

3) 20%

4) 25%

Correct Answer: 20%

Candidate Answer: 20%

QID : 31 - Two toy cars X and Y run at average speed of 0.5 km/hr and 1.5 km/hr respectively. If car X moves in South direction and toy Y in East direction
beginning from the same origin at the same time, what will be the distance between the two after 4 hours?

ar Reefler arely 1, X qur Y sHaer: 0.5 frei/der 3i 1.5 Rrefi/eer & 3itaa arer & e §1 301 R X STaor St e 7 3 w1 Y qxa 6 en & vk € g § v 8
THT T T REH H &, Al 4 ° TG 37k dlrer o g3 oFar gre?

[ et s T A e e W e T s M =)



Options:

1) 7 km

VACK: I

2) 210 km

2V10 .,

3) V39 km

V39 foh. 5.

4) V19 km

V19 fR.aT

Correct Answer: 2v10 km
2V10 .5

Candidate Answer: 2v10 km
2v10 f.A.

QID : 32 - What least number must be added to 754 so that the sum is completely divisible by 59?7

754 7 8 O P Fohcll TEAT SiigeAl AT Tfeh Gt AT 59 F 0T faere= g Sie?

Options:

1) 21

2)13

3) 16

4)7

Correct Answer: 13
Candidate Answer: 21

QID : 33 - 32240 is how much percent of 62000?

62000 T ford=T Tfaera 32240 §?
Options:

1) 46%

2) 42%

3) 48%

4) 52%

Correct Answer: 52%
Candidate Answer: 52%

QID : 34 - A can do a piece of work in 40 days. B does the same work with 60% more efficiency. How many days will B take to complete the work alone?

A U FHTH &Y 40 AT A TR1 A Hehell &1 B 3T 1A T 60% 31 RISl § AT ¥ B 3kl IH 1 1 N it & I et Tt dam?
Options:

1) 30 days

30 f&eT

2) 18 days

18 fe=t

3) 15 days

15 feer

4) 25 days

25 feat

Correct Answer: 25 days
25 feat

Candidate Answer: 18 days
18 f&t

QID : 35 - How many of the following number are divisible by 42?

2646, 1008, 1470, 656, 2478, 1826
?lﬁiia @a ﬁﬁ 3530_'1 F'C‘—q Uw 42 ﬁ iES-‘l o %’7

2646, 1008, 1470, 656, 2478, 1826
Options:

1)2

2)3

3)4

4)5

Correct Answer: 4

Candidate Answer: 4

QID : 36 - The average monthly income of P and Q is Rs 42000. If P quits his job and remains jobless, the average monthly income of P and Q comes down to Rs
12000. What was the monthly salary of P when he was in job?

P 3R Q & 3ita I 3117 42000 T9 §1 3R P 3= iy DIgH SRISEIR &1 1T &, ar P 3R Q i 3ikra i 3mar et 12000 93 &1 Sy &1 #Pa»‘l’raﬂ?rgtr
P & il 3m fhaelr oA

~ 3 ,6’,~-¢g:!,5; "__’*ﬁ*';"—..s ~ .’.-.%r, -
DEries s cendt Crm s T Fos 8 Uit o v e a0



Options:

1) Rs 50000
50000 9
2) Rs 40000
40000 T9r
3) Rs 60000
60000 9
4) Rs 80000
80000 39

Correct Answer: Rs 60000
60000 T

Candidate Answer: Rs 60000
60000 T

QID : 37 - The total surface area of a cube is 2904 cm2, What is the volume of this cube?

T T T TFYOT 55 S 2904 A2 §1 S BT T A T 82
Options:

1) 11748 cm3

11748 @3

2) 10848 cm?3

10848 {.#.3

3) 10748 cm3

10748 A.#.3

4) 10648 cm3

10648 A3

Correct Answer: 10648 cm3
10648 A3

Candidate Answer: 10648 cm3
10648 ¥.77.3

QID : 38 - A seller offers 11% discount on a mini-refrigerator with a marked price of Rs 8200. If he still earns a profit of Rs 600, what is the cost price of the
refrigerator?

T f&shell 8200 T 3ifehcl FHed aTel Teh BIE WHTST T 11% B &l ¢ 3R ThT 8T a8 600 T9L T o187 AT &, ot BT T s FHod FT 87
Options:

1) Rs 6698

6698 T

2) Rs 7600

7600 T

3) Rs 7350

7350 TR

4) Rs 4960

4960 TIX

Correct Answer: Rs 6698
6698 TTI

Candidate Answer: Rs 6698
6698 T

QID : 39 - With a given annual interest rate a sum of Rs 10000 gives a total compound interest of Rs 1881 in 2 years. What will be the total simple interest in 3
years for the same principal amount with the same annual interest rate?

T T a7 aTfie Saet &X & A 10000 T T 4Ry 9% 2 a9 # 1881 T 1 HHA GHIIE ST Ao §1 TA e ST 1 &% & WY FA 4= F fow 3
Y F HHT [TEMROT SATS FAT gE?
Options:

1) Rs 2700

2700 T9

2) Rs 3000

3000 T9r

3) Rs 2500

2500 39

4) Rs 2300

2300 T

Correct Answer: Rs 2700

2700 9

Candidate Answer: Rs 2700
2700 T




QID : 40 - A total of 2,60,000 students appeared for class 10t exam in a state. If a total of 1,97,600 students pass the exam, what will be the percentage of
students who failed in the exam?

Tk T A T B AT H Fer 2,60,000 ST AT §UI 30K Fel 1,97,600 ST ¥ GRIT 91 Y, r Sel gt arel ST b wfcieret 4 gram?
Options:

1) 76%

2) 24%

3) 28%

4) 26%

Correct Answer: 24%

Candidate Answer: 24%

QID : 41 - The monthly salaries of A and B are in the ratio 11:21. If both of them get a salary increment of Rs 4000 per month, the new ratio becomes 3:5. What is
the new monthly salary of A?

A TUT B & AR defl T 3e]a1T 11:21 1 3R A1 T 4000 T i ARSIt g FFerell &, @ AT 3earet 3:5 & S 1 A &7 721 ARG e T &7
Options:

1) Rs 11000

11000 93

2) Rs 15000

15000 3

3) Rs 25000

25000 FI&

4) Rs 22000

22000 T

Correct Answer: Rs 15000
15000 931

Candidate Answer: Rs 15000
15000 9

QID : 42 - Two cyclists A and B run their cycles at average speed of 16 km/hr and 12 km/hr respectively. If A runs in North direction and B in East direction
beginning from the same origin at the same time, what will be the minimum distance between the two after half an hour?

& Argiehel WA A T B sharer: 16 fohafl/eier 3R 12 foreft/eier i 3ie =il & Fefd §1 37K A SecX s f&em & 3R B xer 1 feam # vehs & feig & weh &1 @ o werem
IREH I €, 0 3T 6 a1G 3eeh der 1 AT gt a1 gef?
Options:

1) 14 km

14 5.7

2) 2v14 km

2V14 .

3) V10 km

V10 R

4) 10 km

10 5.7,

Correct Answer: 10 km

10 .7

Candidate Answer: 10 km

10 .7,

QID : 43 - A shopkeeper incurs 10% loss by selling a washing machine for Rs 16200. At what price should the washing machine be sold to earn 15% profit?

Teh GAIEIGR T 16200 9 # T aTfiar 7efeT serel T 10% T JohaTe aial &1 15% o1t a1t 3 fore 38 anfiar #vefier o frctet w2t o sreerm anfgw?
Options:

1) Rs 18700

18700 T4

2) Rs 19700

19700 93

3) Rs 20700

20700 9

4) Rs 20250

20250 T9

Correct Answer: Rs 20700
20700 &9

Candidate Answer: Rs 20700
20700 $9

QID : 44 - Radha can do a piece of work in 16 days. Meera and Shashi together can do it in 12 days, while Radha and Shashi together can do it in 8 days. How
many days will Meera take to do the work alone.

TreIT TR T T 16 ot 3 O T Feet &1 #HRT 3R AR A1 {Acrene 33 1 1 12 Tt 7 90 T el 8, STeifen em 3R iRy @y ferent 3¢l 1 i 8 & # qur
Y Tl § | FRT 3T FIA H 3ehel T FEA A Fhewet ot a0?

[ et s T A e e W e T s M =) I



Options:
1) 40 days
40 &=t

2) 28 days
28 feet

3) 32 days
32 =

4) 48 days
48 ot

Correct Answer: 48 days
48 f&a1

Candidate Answer: 48 days
48 feat

QID : 45 - If Rs 3276 is divided in the ratio of 6:13:15:8 among A, B, C and D respectively, what will be the share of A?

T 3276 TG T HAW: A, B, C TUT D & e 6:13:15:8 & 3Fequrel # fasmifores fomam e &, or A 1 e a0 grom?
Options:

1) Rs 468

468 39X

2)Rs 1170

1170 &

3)Rs 624

624 T

4) Rs 568

568 TUI

Correct Answer: Rs 468
468 T4

Candidate Answer: Rs 468
468 T

QID : 46 - What is the sum of all 3 digit positive integers divisible by 11?

11 & RSS2 glet aTelr 3 375t 3\t rTcosh qoiieh HET3il o ieT T 62

Options:
1) 44550
2) 43550
3) 42550
4) 45550

Correct Answer: 44550
Candidate Answer: 44550

QID : 47 - If a shopkeeper buys a dozen chair for Rs 7200 and sells each chair for Rs 708, what will be his profit percentage?

I T GHIFAER T gotet et 7200 TR # @lieaT ¢ 3R ufer T 708 T & o= Aar ¥, o 3wt ey wforerd & gham?
Options:

1) 18%

2) 16%

3) 14%

4) 12%

Correct Answer: 18%

Candidate Answer: 18%

QID : 48 - 2898 is how much percent of 12600?

12600 3 foreraT Ficrere 2898 &2
Options:

1) 19%

2)21%

3) 23%

4) 27%

Correct Answer: 23%
Candidate Answer: 23%

QID : 49 - A shopkeeper offers 19% discount on mobile phone with a marked price of Rs 7400. If he still earns a profit of Rs 500, what is the cost price of the
phone?

Teh GG 7400 F9Y 3ifehed Hed dTel Ueh AIGTSel Biel T 19% BT &l §1 3R T 8 a8 500 394 T o137 HATAT &, A BIeT 1 v e 4T §?




Options:

1) Rs 6900

6900 TIr

2) Rs 8340

8340 T

3) Rs 5494

5494 T3¢

4) Rs 4950

4950 TG

Correct Answer: Rs 5494
5494 T

Candidate Answer: Rs 5494
5494 T

QID : 50 - What is the compound interest for a sum of Rs 20000 in 2 years, if the rate of interest is 18 % per annum?

g =aTe T X 18% 9y ¥ g7, A 20000 T &7 2 T 3 AT SATST faheell G1a?
Options:

1) Rs 7748

7748 9

2) Rs 7848

7848 T

3) Rs 7648

7648 T4

4) Rs 7948

7948 T9

Correct Answer: Rs 7848
7848 T

Candidate Answer: Rs 7848
7848 T

QID : 51 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

If revenues remain healthy, the (1)/ government would, over time, get the necessary (2)/ fiscal room to rationalizes multiple GST rate. (3)/ No error (4)
Options:
1)1

2)2
3)3

4) 4
Correct Answer: 3
Candidate Answer: 2

QID : 52 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

In July, the government promulgate (1)/ a law that enables the banning (2)/ of political parties. (3)/ No error (4)
Options:
1)1

2)2
3)3

4)4
Correct Answer: 1
Candidate Answer: 3

QID : 53 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

I had my right shoulder during the play.
Options:

1) browsed

2) broke

3) grounded

4) injured

Correct Answer: injured

Candidate Answer: injured

QID : 54 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Police had the driver. IEMM.ZMQ&LWK&MMM?#E&M |



Options:

1) obtained

2) detained

3) sustained

4) objected

Correct Answer: detained
Candidate Answer: objected

QID : 55 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Scion
Options:
1) Root

2) Cause
3) Heir

4) Source
Correct Answer: Heir
Candidate Answer: Root

QID : 56 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Shriek

Options:
1) Peep

2) Toot
3) Yell

4) Whisper
Correct Answer: Yell
Candidate Answer: [ NOT ANSWERED ]

QID : 57 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Proscribe
Options:
1) Admit

2) Ban
3) Praise

4) Include
Correct Answer: Ban
Candidate Answer: Include

QID : 58 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Unitary
Options:
1) Whole

2) Incomplete
3) Integral

4) Entire
Correct Answer: Incomplete
Candidate Answer: Entire

QID : 59 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Former

Options:

1) Ancient

2) Above

3) Departed

4) After
Correct Answer: After
Candidate Answer: After




QID : 60 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Dilate

Options:
1) Stretch

2) Develop
3) Compress

4) Enlarge
Correct Answer: Compress
Candidate Answer: Develop

QID : 61 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Word of mouth
Options:
1) Give money for talking a lot about nothing

2) Through the verbal sharing of information
3) Bring order and discipline in the company

4) To leave someone in the time of difficultly
Correct Answer: Through the verbal sharing of information
Candidate Answer: Through the verbal sharing of information

QID : 62 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase. Pull strings
Options:
1) Fixed the issue

2) In a dilemma
3) To use influence

4) Losing hope
Correct Answer: To use influence
Candidate Answer: To use influence

QID : 63 - Improve the bracketed part of the sentence.

Now that the child rights commission has (register) the case, it will go to the police for investigation, he said.
Options:

1) registered

2) registering

3) will register

4) No improvement
Correct Answer: registered
Candidate Answer: registered

QID : 64 - Improve the bracketed part of the sentence.

The Home Department (have issued) separate guidelines on the participation of children in processions and public functions.
Options:

1) will issued

2) has issued

3) were issued

4) No improvement
Correct Answer: has issued
Candidate Answer: were issued

QID : 65 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

One who see bright side of things
Options:
1) Optimist

2) Superspecialist
3) Conventionalist

4) Educationalist

Correct Answer: Optimist
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QID : 66 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

One who loves own country

Options:
1) Chariot

2) Adroit
3) Idiot

4) Patriot
Correct Answer: Patriot
Candidate Answer: Patriot

QID : 67 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Conservative

2) Coneservative
3) Concervative

4) conservrative
Correct Answer: Conservative
Candidate Answer: Conservative

QID : 68 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Garmmatoical

2) Grammatical

3) Grammetical

4) Garammatical

Correct Answer: Grammatical

Candidate Answer: Grammetical

QID : 69 - Rearrange the parts of the sentence in correct order.

Accept only those economic

P: developmental activities that are

Q: and economically rewarding

R: people friendly, environment friendly

Options:

1) QPR

2) RPQ

3) RQP

4) PRQ

Correct Answer: PRQ
Candidate Answer: PRQ

QID : 70 - Rearrange the parts of the sentence in correct order.

Pulses are

P: vegetarian diet
Q: a major source
R: of protein in a

Options:

1) PQR

2) QRP

3) QPR

4) RQP

Correct Answer: QRP
Candidate Answer: QRP

QID : 71 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Co-education helps the boys and girls to and understand each other well. They become more broad-minded and towards the gender. They
interact freely with , thereby overcoming hesitation and shyness. Thus, co-education leads to a and harmonious relationship between boys and girls.

the boys and girls to
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Options:
1) intermingle

2) separate
3) divide

4) unmix
Correct Answer: intermingle
Candidate Answer: intermingle

QID : 72 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Co-education helps the boys and girls to and understand each other well. They become more broad-minded and towards the gender. They
interact freely with , thereby overcoming hesitation and shyness. Thus, co-education leads to a and harmonious relationship between boys and girls.

more broad-minded and towards
Options:
1) disapproving

2) tolerant
3) biased

4) prejudiced
Correct Answer: tolerant
Candidate Answer: prejudiced

QID : 73 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Co-education helps the boys and girls to and understand each other well. They become more broad-minded and towards the gender. They
interact freely with , thereby overcoming hesitation and shyness. Thus, co-education leads to a and harmonious relationship between boys and girls.

the gender.
Options:
1) like

2) akin
3) opposite

4) same
Correct Answer: opposite
Candidate Answer: opposite

QID : 74 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Co-education helps the boys and girls to and understand each other well. They become more broad-minded and towards the gender. They
interact freely with , thereby overcoming hesitation and shyness. Thus, co-education leads to a and harmonious relationship between boys and girls.

freely with other,
Options:

1) every

2) each

3) some

4) one

Correct Answer: each
Candidate Answer: one

QID : 75 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Co-education helps the boys and girls to and understand each other well. They become more broad-minded and towards the gender. They
interact freely with , thereby overcoming hesitation and shyness. Thus, co-education leads to a and harmonious relationship between boys and girls.

co-education leads to a and harmonious
Options:

1) sick

2) infirm

3) delicated

4) healthy
Correct Answer: healthy
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Candidate Answer: healthy

QID : 76 - The purpose of which sector is not just to earn profits?

TR &1 T 3227 T ot 1TST T 16T g &2
Options:

1) Private

il

2) Public

BCEInC

3) Neither public nor private
o ar ardstferss o o & fasi
4) Both private and public
s T adsfae gt
Correct Answer: Public

L ICEICED

Candidate Answer: Public

FCRiGeED

QID : 77 - Which among the following is included in the formal sources of credit?

frafaf@a & @ sl a1 fea & 3itvaris drdr F afFafaa §2
Options:

1) Employers

frerar

2) Cooperatives

HERIRAr

3) Moneylenders

4) Traders
STARY
Correct Answer: Cooperatives

TERTRAT

Candidate Answer: Traders

STy

QID : 78 - One term of the President of India is for how many years?

T & Tsgulal T Teh ST Tohelel a8l & Tl gieT §7
Options:

1) 6 year

6 a8

2) 5 year

5ay

3) 4 year

499

4) 7 year

7 a8

Correct Answer: 5 year

599

Candidate Answer: 5 year

5ay

QID : 79 - Right against exploitation is given in which article of Indian constitution?

HRART TSI & o o 3 2iwor & faee 1R e arar &7
Options:

1) Article 23, 24

ITedE 23, 24

2) Article 15,16

33T 15,16

3) Article 30,31

Ffede 30,31

4) Article 32

FTedE 32

Correct Answer: Article 23, 24
FeTede 23, 24

Candidate Answer: Article 23, 24
3[eds 23, 24




QID : 80 - Teachings of Mahavira, which were written about 1500 year ago, are currently present at which place?

FEER & RieTw, S o EmTer 1500 av 9F foed 1% o, adet & Fgl 3ufe 87
Options:

1) Mumbai, Maharashtra

TS, FENSE

2) Bhopal, Madhya Pradesh

T, 7L T2

3) Valabhi, Gujrat

Foorsll, IR

4) Kolkata, West Bengal

PRI, Ifaa Femer

Correct Answer: Valabhi, Gujrat

Foosll, IeRT

Candidate Answer: Bhopal, Madhya Pradesh
$Te, AET g

QID : 81 - Where was Mangal Pandey hanged on 29 March 1857?

29 AT 1857 T FHITT TiS T gl Hra & 15 2i?
Options:

1) Meerut

WS

2) Barracpore

HRFR

3) Agra

3TIRT

4) Delhi

feeeir

Correct Answer: Barracpore

TFER

Pl
Candidate Answer: Barracpore

FTEFR

QID : 82 - What is the shape of the orbit of earth going around the sun?

T F IRT HR TFRT AT FTel AT T 8T T AR F47 87
Options:

1) Circular

EISCE]

2) Elliptical

EreigeasR

3) Spherical

TMATHER

4) Irregular

e

Correct Answer: Elliptical

ErigeasR

<
Candidate Answer: Elliptical

[AERGIEIR

<

QID : 83 - From south to north, main land of India extends between 8°4' N and latitudes.

IRTOT | Feer T T AR T 7T 1 1 AR 8%4' 3. qar ¢
Options:

1) 68°7'N

68°7'3

2)37°6"N

37°6' 3.

3)37°6'S

37°6'€.

4) 8°4'S

8°4'g.

Correct Answer: 37°6' N
37°6' 3.

Candidate Answer: 68°7' N
68°7'3

QID : 84 - Which disease among the following spreads when affected persons excreta gets mixed with drinking water?




Options:
1) Cancer
Fh T
2) Cholera
g

3) Tuberculosis
&7 T

4) Asthma

gHT

Correct Answer: Cholera
g

Candidate Answer: Tuberculosis

&7 W7

QID : 85 - Pulse beat is measured from

Iou S & A FT El
Options:

1) Artery

GHAT

2) Nerve

GIECE

3) Capillary

HiRT

4) Vein

a9

Correct Answer: Artery
HAT

Candidate Answer: Artery
HAT

QID : 86 - Which one of the following binds with haemoglobin irreversibly?

AR # ¥ Fi9 3t 3aRTTAT T T QAT 3 T §¢ ST 52
Options:

1) Methane

e

2) Carbon monoxide

FIaT AA3ASE

3) Ethane

AT

4) Chlorine

FeeT

Correct Answer: Carbon monoxide
FIa=T A3

Candidate Answer: Carbon monoxide
FTT AAINEFESS

QID : 87 - A force acts on an object which is free to move. If we know the magnitude of the force and the mass of the object, then newton's 2nd law of motion
enables us to determine the object's

T ST 39 a¥q TR 1 Tl & S elel o (T Taeia g1 S 5o aeT S AT AT S 1 G AT A & alf weeT o INTel T GERT a0 gaf aeg r =1 fFuifa
FL 7 [aTH SA1T B

Options:

1) velocity

gt

2) speed

el

3) acceleration

caoT

4) distance

g

Correct Answer: acceleration
ca{or

Candidate Answer: acceleration
caloT

QID : 88 - Sound travels fastest in .

eafey #F Tl AT AT A B




Options:
1) petrol

agrer

2) steel
ST

3) nitrogen
ATSEISTeT

4) kerosene oil

N et

Correct Answer: steel
FEa

Candidate Answer: steel
SEITT

QID : 89 - Organized files can be stored in which of the following?

IS BIgel T fFafafed F & Fel GULd R o G &2
Options:

1) Folder

Lar:cy

2) Label

EECH

3) Index

CELa:]

4) Filler

e

Correct Answer: Folder

HesT

Candidate Answer: Folder

Lar:ty

QID : 90 - Which of the following acid is also known as battery acid that is used in car batteries?

TR & & Sl & 315er 1 el 31l oY &g ST & et 39T R dedt 7 B siar §?

Options:
1) HySO4

2) Hal
3) H,CO;3

4) H3PO4
Correct Answer: HySO4
Candidate Answer: H,SO4

QID : 91 - Aqua regia is a mixture of i

LECITE RIS T Th [HAOT §l

Options:

1) three parts of concentrated nitric acid and two parts of concentrated hydrochloric acid
Hig ATSIeeH 33 & et HIENT AT WG FISSIFAIN 3 T &1 9T

2) three pars of concentrated hydrochloric acid and one part concentrated nitric acid
Tie; BTSRerelliReh 31Fel & cfied 19T 7T Uoh e S feh 31l i &

3) three parts of dilute hydrochloric acid and 1 part of dilute nitric acid

] BISSIFAlRe 31Fcl & cliel HIFN T o] ATSTeh 31 & 1 feear

4) three parts of dilute nitric acid and one part of dilute hydrochloric acid

] ATSTge 3Ee & et HIE AT o] BISZIFell N 37l T Teh #19T

Correct Answer: three pars of concentrated hydrochloric acid and one part concentrated nitric acid
Hig gTSglerellReh Fel & ool HIEIT AT Ueh REAT A1Sfee 317 |ig &

Candidate Answer: [ NOT ANSWERED ]

QID : 92 - The large carnivores or the tertiary consumers exist at which level of the food chain?

3 ARATERT AT cJci1geh ST HisTel HTell & fohd T W 39TeUd §?
Options:
1) First
qgell

2) Second
Gun

3) Third
arr

4) Fourth
terr




Correct Answer: Fourth

tar
Candidate Answer: Second

CRay

QID : 93 - 'Prashikshak’ is the education portal for District Institutes of Education and Training.

TorelT FRUETT T IiRNeToT GEUTEr & & faw et e e 3
Options:

1) Students

BIE

2) Schools

faereat

3) Colleges

Frorat

4) Teachers

RreThT

Correct Answer: Teachers
Rravent

Candidate Answer: Teachers

Rrevent

QID : 94 - Alessandro Volta is famous for the invention of

Torigr areer & JfasFR F forw aRg &1
Options:

1) Battery

¥

2) Electron

EREHC)

3) Television

TelfasteT

4) Dynamite

E1py

Correct Answer: Battery

Craiy

Candidate Answer: Battery

QID : 95 - What is the name by which Legendry Milkha Singh is also known?

FgreT e e o 73 I & S o) 82
Options:

1) Flying Sikh

TSI R

2) Iron man

ot o

3) Wizard of Athletics

TgAfeHy & SR

4) Rawalpindi Express
BECICERGz e

Correct Answer: Flying Sikh
TS fAFg

Candidate Answer: Flying Sikh
TS REa

QID : 96 - Which among the following is not a stringed instrumentalist ?

A& 7 & e AT AR aTel aETIT T8 §?
Options:

1) Sitar

fFar

2) Sarod

3) Santoor

X

4) Tabla

dsell

Correct Answer: Tabla
GECI




Candidate Answer: Tabla
RECI

QID : 97 - Which among following coach has won Dronacharya Award, 2017 for Hockey?

feafafa 7 & frg e o gidr % fow domert WK, 2017 S g2
Options:

1) Roshan Lal

AT STl

2) Sanjay Chakarvaerthy
ot Thadr

3) G.S.S.V. Prasad

SiY. TE. T & gHie

4) P.A. Raphel

9T, T. el

Correct Answer: P.A. Raphel
Y. T. I

Candidate Answer: [ NOT ANSWERED ]

QID : 98 - Who is the author of the book named "Business at the speed of Thoughts"?

"frsierg ve g T 3 AleH” AHE G F o et 57
Options:

1) Jim Carey

AT

2) Charles Dickens

ATy 35

3) Bill Gates

faer e

4) Nirmal Verma

forerer gt

Correct Answer: Bill Gates
[CCEi)

Candidate Answer: Bill Gates

et dew

QID : 99 - Which among the following is not among the founding members of Organization of the Petroleum Exporting Countries (OPEC)?

AR 7 & Fia a1 Qe Halas G2t & Tetoe (3T9sh) & TEATTH Teedi 3 TiEAfed 78T 87
Options:

1) Iran

T

2) Iraq

51‘]?5

3) Saudi Arabia

LECUECH

4) Nigeria

ASRar

Correct Answer: Nigeria
AsSARET

Candidate Answer: Nigeria

AT

QID : 100 - Operation Cactus was an operation by Indian Armed forces to foil the coup in which neighbouring country?

IR e HRA & T Tal GaRT Fohd TSI 427 H TEATIAC FI ATRIH F T ITORAT AT?
Options:

1) Bhutan

e

2) Bangladesh

Figemeer

3) Nepal

Jarer

4) Maldives

AT

Correct Answer: Maldives

AT
Candidate Answer: Bangladesh

qiTeneer




